®

MOTORCYCLE POSITION STAND
INSTRUCTION MANUAL

TecTake GmbH,
Tauberweg 41, D-97999 Igersheim, Germany

ORIGINAL INSTRUCTION MANUAL
RETAIN FOR FUTURE REFERENCE

Parameter

TYRE DIA: 17"~21"
TYRE WIDTH: 90-130 mm

Introduction

This motorcycle position stand suits for 17°~21” and tire width
90-130mm motorcycle tires use, can be placed on any level
ground, to fix motorcycle and keep it from moving, it is easy to
use, convenient and save labor.

Using

1.

Put this stand on the suitable level, and adjust it according to
the motorcycle tire size.

2. put the movable bracket on the ground horizontally, then push
the motorcycle onto the movable bracket, then forward into the
position stand, so it is ok for motorcycle position setting.

3. Afterward insert the lock pin to hole of the movable bracket, so
that keep the motorcycle from being back off.

4. Opposite above, move the motorcycle from the position stand.

Warning

1.

2.
3.

Do not use it for the motorcycle tire which not suits the
motorcycle position stand’s specification.

Do not use it on the leaning ramp.

Save this stand appropriately, and do not use it when in
damage.



PARTS LIST

Part L Part .

No. Description Qty | No. Description Qty
1 Pin Shaft ®12X70 1 10 Pin Shaft ®6X20 1
2 | host Weuding 1 | 11 | Cotter Pin ®1.2x29 | 1

Left Moveable
3 Flat Plug ®2x44 1 12 Frame Assemble 1
4 Rubber Sleeve 2 13 Pin Shaft ®12X100 | 2
5 | Rase Vielding 1 | 14 | Cotter Pin ®1.8x34 | 2
Right Moveable
6 Screw  M10X25 4 15 Frame Assemble 1
7 Spring Washer ®10 4 16 Rubber Sleeve 2
Adjustable Support
8 Washer ®10 4 17 Welding 1
9 Safety Element 1

DISASSEMBLE DRAWING

MOTORRADSTANDER
BEDIENUNSANLEITUNG

401156



U?ERS__ETZUNG DER ORIGINALBETRIEBSANLEITUNG
FUR KUNFTIGE VERWENDUNG AUFBEWAHREN

Parameter

REIFENDURCHMESSER: 17 "~ 21"
REIFENDICKE: 90 - 130 mm

Einleitung

Dieser Motorradstander kann bei Motorradreifen mit einer Gréf3e von

17 " ~ 21" und einer Reifenbreite von 90 - 130 mm verwendet werden.

Er steht auf jedem ebenen Untergrund, auf dem das Motorrad stabil
steht und sich nicht bewegen lasst. Aulterdem ist er einfach und
bequem zu bedienen und spart Arbeitszeit.

Verwendung

1. Stellen Sie den Stander auf einen geeigneten Untergrund und
stellen Sie die Hohe entsprechend Ihrer Motorradreifengréf3e ein.

2. Stellen Sie die bewegliche Halterung horizontal auf den Boden,
dricken Sie das Motorrad auf die bewegliche Halterung und
anschlieldend nach vorne in die Standposition, sodass das Motorrad
die Standposition einnehmen kann.

3. Stecken Sie den Sicherungsstift anschliefend in das Loch der
beweglichen Halterung, sodass das Motorrad nicht wieder
zurtickkippen kann.

4. Folgen Sie den oben beschriebenen Schritten rickwarts, um das
Motorrad aus der Standposition zu heben.

Achtung

1. Verwenden Sie den Stander nicht fir Motorradreifen, die den
Spezifikationen des Motorradstanders nicht entsprechen.

2. Verwenden Sie ihn nicht auf einer schiefen Rampe.

3. Lagern Sie den Stander ordnungsgemal und verwenden Sie ihn
nicht, wenn dieser beschadigt ist.

TEILLISTE
Teil-Nr. Beschreibung Mge | Teil-Nr. Beschreibung Mge
1 Schaft ®12 x 70 1 10 Schaft ®6 x 20 1
2 Post- 1 11 Kurbelkeil ®1.2 x 29| 1
Schweilmontage
3 1 12 Linke bewegliche 1
Flat Plug ®2x44 Gestellmontage
4 Gummitiille 2 13 Schaft ®12 x 100 2
Basis- .
5 ) 1 14 Kurbelkeil ®1.8x34 | 2
Schweilfmontage
Rechte
6 Schraube M10 x 25 4 15 bewegliche 1
Gestellmontage
7 Federscheibe ®10 4 16 Gummitille 2
Unterlegscheibe Verstellbare
8 4 17 ) ) 1
10 Stitzschweillung
9 Sicherheitselement 1

DEMONTAGE-ZEICHNUNG:

17




SUPPORT POUR MOTOS
NOTICE D'UTILISATION

401156

TRADUCTION DU MODE D'EMPLOI ORIGINAL
A CONSERVER POUR UNE UTILISATION FUTURE

Parametres

Diamétre du pneu : 17°~21"
Largeur du pneu : 90-130 mm

Introduction

Ce support pour motos convient pour les pneus de 17"~21”
et de largeur 90-130mm, peut étre installé sur tout sol plat
pour fixer une moto et 'empécher de bouger, il est facile
d’utilisation, pratique et évite du temps de travail.

Utilisation

1. Placez ce support sur un sol approprié et ajustez-le a la taille
des pneus.

2. Placez la fixation mobile horizontalement sur le sol, poussez
ensuite la moto sur cette fixation mobile et vers I'avant dans
la fixation verticale pour que la moto puisse prendre sa position.

3. Insérez ensuite la sécurité dans la fixation mobile pour éviter
que la moto parte vers l'arriére.

4. Faites l'inverse pour libérer la moto de sa position fixe.

Attention

1. Ne pas utiliser ce support pour les pneus qui ne correspondent
pas aux spécifications de ce support.

2. Ne pas utiliser ce support sur une rampe inclinée.

3. Stocker ce support de maniere appropriée et ne pas l'utiliser
s’il est endommage.



Liste des pieces détachées
o . | Part _
No. Description Qté No. Description Qty
1 Goupille ®12X70 1 10 | Tige ®6X20 1
Goupille fendue
3 | Flat Plug ®2x44 1 12 (F;;it(':?‘g)mc’b"e 1
4 Embout en plastique | 2 13 | Tige ®12X100 2
Goupille fendue
5 |Base 1] 1| oy e 2
. Fixation mobile
6 Vis M10X25 4 15 (droite) 1
7 Rondelle élastique 10| 4 16 Embout en plastique| 2
Fixation vertical
8 Rondelle ®10 4 17 ajustable 1
9 Sécurité 1

Vue éclatée

Es)

SOPORTE PARA MOTOS Y MOTOCICLETAS
MANUAL DE INSTRUCCIONES




TRADQCCI()N DEL MANUAL ORIGINAL
CONSERVESE PARA UNA UTILIZACION FUTURA

Parametros

Diametro de las ruedas: 177-21”
Ancho de las ruedas: 90-130 mm

Introduccion

Este soporte para motos y motocicletas es apto para ruedas de
17”-21” y de 90-130 mm de ancho, puede instalarse sobre cualquier
superficie llana para fijar una moto y evitar que ésta se mueva; es
facil de usar, practico y facilita un ahorro del tiempo de trabajo.

Utilizacion

1. Coloque este soporte sobre en superficie limpia y ajustelo al
tamafo de las ruedas.

2. Coloque la fijacidn mévil sobre el suelo, horizontalmente; a
continuacion, empuje la moto sobre esta fijacion mévil y hacia
adelante en la fijacion vertical para que la moto pueda tomar su
posicion.

3. Después inserte el pasador de seguridad en la fijacidn mévil para
evitar que la moto se vaya hacia atras.

4. Invierta estos pasos para liberar la moto de su posicion fija.

Advertencia

1. No utilice este soporte para motos cuyas ruedas no se correspondan
con las especificaciones de este soporte.
No utilice este soporte sobre una rampa o una superficie inclinada.
Guarde este soporte correctamente y no lo utilice si éste esta dafiado.

Listado de piezas

NUm.

Nam.

orden Descripcién Cantidad | oot Descripcion Cantidad

1 |Pasador ®12X70 1 10 |Perno ®6X20 1
2 Eje 1 11 |Pasador ®1.2x29 1
3 |Perno ®2x44 1 12  |Fijacion movil (izquierda)| 1
4 |Tope de plastico 2 13 |Perno ®12X100 2
5 |Base 1 14 |Pasador ®1.8x34 2
6 [Tornillo M10X25 4 15 [Fijacion movil (derecha) 1
7 |Arandela Grower ®10| 4 16 |Tope de plastico 2
8 |Arandela plana ®10 4 17 [Fijacion vertical ajustable| 1
9 |Pasador de seguridad| 1

Vista en despiece




